THISEfERNE HEEMMmHESIEL—ER (FEXH)

A% 8

([X3)
oo oM M K & R J—
Sl mEm | K o oW oo B & [ AR3E | Bm2E - Sl \ Lo |E o o oo v o
LER A e S S =V (A) (B) (A/B=1) X100 " S T E 8 i =
M, i M %
Hge SRE_TH2%1 94 )
1 39, 500, 000 41, 000, 000 A 3.7 800 REE 30817 VG REE Y L (i@ Y)
5-13|TeREE2 — 6 — 7 |
H ke RIEATH 4% 1 34 ‘
2 28, 500, 000 30, 700, 000 A 7.2 700 PP 3 Mk SRIEREREITTOWE R
5-14|T8REE6 — 8 — 3 |
¥ FL=TH33&?2 ‘
3 27, 000, 000 27, 000, 000 0.0 600 776 3 0 FEA 2
5-14|MbH L3 —5—30]
FRE  |RON=TA 2% ‘ . o
4 26, 900, 000 217, 300, 000 A 1.5 1300 REE e HERE LTS
5-1|IHFDOWN3—3—1]
TR | KFH—THS5%3 94 ‘
5 25, 600, 000 26, 100, 000 A 1.0 1300 GEE Eih KDD I KFHTE L
5-24[TKFRT1 —8—1]
BraE PHIE—TH18%?2 ‘
6 19, 500, 000 20, 000, 000 A 25 1000 REE FilkiN SEIKAEL
5-4|PEHE1 —18—2]
BraE BriE =T HBSF 24 ] . .
7 17, 600, 000 18, 200, 000 A 3.3 800 REE e LA VvR—E Ly
5-10[T#fE3—5—4]
e HE=THS802%6% ‘
8 16, 000, 000 17, 200, 000 A 7.0 900 REE e B e L
5-2|#fE3—18—5]
B BEW _TH21 3%
9 15, 800, 000 15, 800, 000 0.0 700 776 3 0 Boe L
5-4|NELEK2—-—29—1 9]
Hge FfETHA4ZESH )
10 15, 200, 000 15, 500, 000 A 1.9 800 REE Filiki F—v oL
5-8|IHfE2—-4—15]
B I —TH1 0% 2% ‘ B
10 15, 200, 000 15, 300, 000 A 0.7 800 REE 51k TR HARERITEER XS
5-3|Mwm1—22—8)




(ZE)

S O - RS

Sl EwE| ®ow o ow oo Fo | PR3E | ARz i HE . Ll o e o o4
L5 A A (A) () |WEDXI0 ol BOE R e w4
M,/ m M,/ m %
a4 HEHEFAIT—-TH2071%&4 2N
1 6, 850, 000 6, 750, 000 1.5 700 7 3 Hi e T B REAE
5-2|TEHEFATT —9—1 2
371 FBHT —THO9 1%&645
2 5, 280, 000 5, 280, 000 0.0 600 [EE3:0 MHORENL (bR KED)
5-6|BRT2 —7 —2 0
W= EREFEIT—-TH2728&F9WN
3 3, 230, 000 3, 230, 000 0.0 600 7 3 Hi e S—TYKK
5- 7| E#FRAIT1 —5—5]
HyH JFEETHSNTH7 8 2% 54+
4 2,700, 000 2, 740, 000 A 1.5 700 PP 3 I [ NEEE oY Ve
5-8|IFEHTHG6 —3 — 9]
—E THZEZTH256%1 4
5 2, 630, 000 2, 560, 000 2.7 500 PP 3 Hh I “ETRE e
5-3|TE#%£3—26—10])
Al AT _TH101%
6 1, 920, 000 1, 950, 000 A 1.5 400 [HE ;0 7 a g Kkl
5-2|T#HT2 —1 — 2
INEF BT =THS54 7% 4
7 1, 580, 000 1, 590, 000 A 0.6 600 7 3 Hi e T A hARREEL
5-1|BH#HT 3 —2 0 — 5|
AN<s AB—TH1881%11
8 1, 540, 000 1, 540, 000 0.0 500 GEE SR h T A e
5-1|TAKHT1 —18—9]
W= EHEFAIT TH1975%&14+
9 1, 460, 000 1, 430, 000 2.1 200 3T A i 2 Tk MULLION ONE
5-3|TEHEFAT2 —17— 2]
[ 53 <F AET-TH334%14
9 1, 460, 000 1, 430, 000 2.1 500 7 3 Hi e TREE L
5-1|TKHT2 —-10—5]




